	as at Friday, 3 May 2019												
	L	Jnited States	Dollar (USD))		Australian	n Dollar (AUD)		New Zealand Dollar (NZD)				
	BUY		SELL		BUY		SELL		BUY		SE	LL	
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
BSP	0.4492	0.4652	0.4272	0.4112	0.6412	0.6592	0.6112	0.5932	0.6796	0.6983	0.6446	0.6259	
ANZ	0.4482	0.4712	0.4262	0.4262	0.6388	0.6728	0.6088	0.6088	0.6798	0.7118	0.6448	0.6448	
MBf	0.4486	0.4673	0.4277	0.4098	0.6405	0.6623	0.6117	0.5917	0.6784	0.7042	0.6455	0.6211	
TDB	0.4507	0.4707	0.4287	0.4287	0.6384	0.6624	0.6084	0.6084	0.6761	0.7010	0.6411	0.6411	
Fexco Tonga Ltd	0.4492	0.4625	0.4382	0.4277	0.6400	0.6572	0.6236	0.6105	0.6790	0.6952	0.6618	0.6462	
Rowena Financial Services	0.4545	0.4717	0.4310	0.4167	0.6452	0.6711	0.6173	0.6024	0.6993	0.7143	0.6536	0.6369	
MoneyGram - BSP	0.4646				0.6545				0.6935				
Jones Travel Ltd		0.4885		0.3916		0.6922		0.5650		0.7332		0.5961	
Western Union Tonga Ltd			0.4343				0.6239				0.6561		
Ave Pa'anga Pau - TDB									0.6969		0.6620		
Frank Money Transfer									0.6897				
Island Flexi Transfer					0.6623								

SELECTED EXCHANGE RATES

Source: National Reserve Bank of Tonga

Notes: BUY is the rate at which foreign currency is changed to pa'anga SELL is the rate at which pa'anga is changed to foreign currency

	as at Friday, 10 May 2019											
	U	Inited States	Dollar (USD)		Australian	n Dollar (AUD)		New Zealand Dollar (NZD)			
	BUY		SELL		BUY		SELL		BUY		SELL	
	TT	NOTES	TT	NOTES	TT	NOTES	ΤΤ	NOTES	TT	NOTES	TT	NOTES
BSP	0.4486	0.4646	0.4266	0.4106	0.6410	0.6590	0.6110	0.5930	0.6815	0.7002	0.6465	0.6278
ANZ	0.4476	0.4706	0.4256	0.4256	0.6385	0.6725	0.6085	0.6085	0.6815	0.7135	0.6465	0.6465
MBf	0.4480	0.4673	0.4271	0.4082	0.6403	0.6623	0.6115	0.5917	0.6803	0.7042	0.6475	0.6250
TDB	0.4501	0.4701	0.4281	0.4281	0.6384	0.6624	0.6084	0.6084	0.6776	0.7025	0.6426	0.6426
Fexco Tonga Ltd	0.4486	0.4619	0.4376	0.4271	0.6400	0.6570	0.6237	0.6104	0.6820	0.6972	0.6635	0.6481
Rowena Financial Services	0.4545	0.4717	0.4310	0.4149	0.6452	0.6711	0.6173	0.6024	0.6993	0.7143	0.6536	0.6410
MoneyGram - BSP	0.4624				0.6564				0.6959			
Jones Travel Ltd		0.4878		0.3910		0.6920		0.5648		0.7352		0.5979
Western Union Tonga Ltd			0.4333				0.6237				0.6572	
KlickEx Trading Ltd							0.6230				0.6610	
(Transactions <t\$10k)< th=""><th></th><th></th><th></th><th></th><th></th><th></th><th>0.0200</th><th></th><th></th><th></th><th>0.0010</th><th></th></t\$10k)<>							0.0200				0.0010	
KlickEx Trading Ltd (Transactions>T\$10K)							0.6250				0.6630	
Ave Pa'anga Pau - TDB									0.6952		0.6639	
Frank Money Transfer									0.6897			
Island Flexi Transfer					0.6623							
Tonga Post Ltd	0.4456											

SELECTED EXCHANGE RATES

Notes: BUY is the rate at which foreign currency is changed to pa'anga **SELL** is the rate at which pa'anga is changed to foreign currency Source: National Reserve Bank of Tonga

17-May-19

SELECTED EXCHANGE RATES

	as at Friday, 17 May 2019												
	ι	Jnited States	Dollar (USD))		Australiar	n Dollar (AUD))	New Zealand Dollar (NZD)				
ſ	BUY		SELL		BUY		SELL		BUY		SE	LL	
	TT	NOTES	TT	NOTES	тт	NOTES	π	NOTES	TT	NOTES	TT	NOTES	
BSP	0.4468	0.4628	0.4248	0.4088	0.6475	0.6655	0.6175	0.5995	0.6845	0.7032	0.6495	0.6308	
ANZ	0.4458	0.4688	0.4238	0.4238	0.6450	0.6790	0.6150	0.6150	0.6844	0.7164	0.6494	0.6494	
MBf	0.4461	0.4651	0.4253	0.4065	0.6468	0.6667	0.6180	0.5952	0.6833	0.7092	0.6504	0.6289	
TDB	0.4483	0.4683	0.4263	0.4263	0.6444	0.6684	0.6144	0.6144	0.6804	0.7053	0.6454	0.6454	
Fexco Tonga Ltd	0.4468	0.4600	0.4359	0.4253	0.6476	0.6638	0.6302	0.6167	0.6844	0.7004	0.6665	0.6510	
Rowena Financial Services	0.4545	0.4695	0.4292	0.4115	0.6579	0.6803	0.6250	0.6098	0.7042	0.7194	0.6579	0.6410	
MoneyGram - BSP	0.4608				0.6623				0.6944				
Jones Travel Ltd		0.4859		0.3893		0.6988		0.5710		0.7384		0.6008	
Western Union Tonga Ltd			0.4321				0.6320				0.6622		
KlickEx Trading Ltd (Transactions <t\$10k)< th=""><th></th><th></th><th></th><th></th><th></th><th></th><th>0.6260</th><th></th><th></th><th></th><th>0.6640</th><th></th></t\$10k)<>							0.6260				0.6640		
KlickEx Trading Ltd (Transactions>T\$10K)							0.6280				0.6660		
Ave Pa'anga Pau - TDB									0.6981		0.6667		
SAV Money Transfer									0.6993		0.6494		
Frank Money Transfer									0.6897				

Notes: BUY is the rate at which foreign currency is changed to pa'anga SELL is the rate at which pa'anga is changed to foreign currency Source: National Reserve Bank of Tonga

24-May-19

SELECTED EXCHANGE RATES

_	as at Friday, 24 May 2019												
	ι	Inited States	Dollar (USD)		Australiar	n Dollar (AUD)		New Zealand Dollar (NZD)				
	BUY		SELL		BUY		SELL		BUY		SELL		
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	тт	NOTES	
BSP	0.4460	0.4620	0.4240	0.4080	0.6458	0.6638	0.6158	0.5978	0.6847	0.7034	0.6497	0.6310	
ANZ	0.4450	0.4680	0.4230	0.4230	0.6433	0.6773	0.6133	0.6133	0.6847	0.7167	0.6497	0.6497	
MBf	0.4454	0.4651	0.4245	0.4065	0.6451	0.6667	0.6163	0.5952	0.6835	0.7092	0.6506	0.6289	
TDB	0.4475	0.4675	0.4255	0.4255	0.6428	0.6668	0.6128	0.6128	0.6808	0.7057	0.6458	0.6458	
Fexco Tonga Ltd	0.4460	0.4591	0.4351	0.4246	0.6455	0.6620	0.6281	0.6150	0.6840	0.7006	0.6669	0.6512	
Rowena Financial Services	0.4545	0.4695	0.4274	0.4132	0.6579	0.6757	0.6250	0.6098	0.7143	0.7194	0.6579	0.6452	
T&T Money Transfer		0.4650			0.6609	0.6668	0.6190	0.6190	0.6993	0.7064	0.6540	0.6540	
MoneyGram - BSP	0.4596				0.6594				0.6977				
Jones Travel Ltd		0.4851		0.3886		0.6970		0.5693		0.7386		0.6010	
Western Union Tonga Ltd			0.4278				0.6241				0.6558		
KlickEx Trading Ltd							0.6280				0.6640		
(Transactions <t\$10k) KlickEx Trading Ltd</t\$10k) 													
(Transactions>T\$10K)							0.6300				0.6660		
Ave Pa'anga Pau - TDB									0.7008		0.6672		
SAV Money Transfer									0.6993		0.6494		
Frank Money Transfer									0.6897				
Island Flexi Transfer					0.6711								
Tonga Post Ltd	0.4375								0	National Da			

Source: National Reserve Bank of Tonga

Notes: BUY is the rate at which foreign currency is changed to pa'anga SELL is the rate at which pa'anga is changed to foreign currency

31-May-19

SELECTED EXCHANGE RATES

_	as at Friday, 31 May 2019											
ſ	ι	Jnited States	Dollar (USD)		Australiar	n Dollar (AUD)		New Zealand Dollar (NZD)			
	BUY		SELL		BUY		SELL		BUY		SE	LL
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES
BSP	0.4463	0.4623	0.4243	0.4083	0.6450	0.6630	0.6150	0.5970	0.6864	0.7051	0.6514	0.6327
ANZ	0.4453	0.4683	0.4233	0.4233	0.6418	0.6758	0.6118	0.6118	0.6863	0.7183	0.6513	0.6513
MBf	0.4457	0.4651	0.4248	0.4065	0.6443	0.6667	0.6155	0.5952	0.6853	0.7092	0.6523	0.6289
TDB	0.4478	0.4678	0.4258	0.4258	0.6418	0.6658	0.6118	0.6118	0.6826	0.7075	0.6476	0.6476
Fexco Tonga Ltd	0.4463	0.4595	0.4354	0.4249	0.6455	0.6612	0.6277	0.6143	0.6860	0.7023	0.6684	0.6528
Rowena Financial Services	0.4545	0.4695	0.4274	0.4132	0.6623	0.6757	0.6211	0.6061	0.6993	0.7194	0.6579	0.6452
T&T Money Transfer		0.4653		0.4273	0.6578	0.6660	0.6170	0.6170	0.6993	0.7081	0.6530	0.6530
MoneyGram - BSP	0.4608				0.6587				0.6991			
Jones Travel Ltd		0.4854		0.3889		0.6962		0.5686		0.7404		0.6026
Western Union Tonga Ltd			0.4284				0.6234				0.6580	
Ave Pa'anga Pau - TDB									0.7026		0.6689	
SAV Money Transfer									0.7042		0.6494	
Frank Money Transfer									0.6897			
Island Flexi Transfer					0.6711							

Source: National Reserve Bank of Tonga

Notes: BUY is the rate at which foreign currency is changed to pa'anga **SELL** is the rate at which pa'anga is changed to foreign currency